20 Chaphor B Talbe-tHome

@ Cetx )= QSW(X\ka('ZX\

v-(xH' (1 —'stq’(w 5 — -7—§‘~7’(x) +Qsc56<)+}
Sép == 4z "2, 6;1/43/’-’:—’?
bt Jald = O;/L!["’/\)(\\ =Y +& =12 —7

2+ iz  axaV3 .t VE

cooln) —/— = —o
2(-7) g T Tz

= )= _-@,L/c 1_«_:(3.7’”371
b

VDR (')-N’uwcsv{ "’ 03 (5 010@%5 ‘93
028) oyx (ST o




N




20 1 TSTH‘

44
%

1,00 7.6’156@5"‘:’ | q,(ﬁ,%b’Z.S“g-- L\ e O

\/’.) V- emc,%fb:(':-\é)

xX= L0+ amcst/\(”
r 5L @32, %,?'—1—&%‘4{2\( oll=0

2105 ot Ql cJ-";;""&,Q: /14@4- o 1219 e )
©. s ca® 10, \.S‘fioofqz,zz:—?,a,{,tq%?)@%/
q q\i%‘b%qL%{
. o
p e o).\?,u5 (L"‘é‘l' +o /‘:7 ‘LX
a464SY, ) 13806254, ’%.??th??sw,r;

5\(,%%7,(%\-(3@
| | @) =
Scra“CL Fon £(r7~ omcw\('___?jj =

—1 &~ (qu +owc<.c—~( ‘G ))4—’1%&(’1\7 ;wc%h(“@})>

+ |
»_Q(]_(B) w("@\

~'z_f3 33y 2720 1(3 (
= ="k < \ \ ‘\" +
J 272

*(‘»%’«:"”\’r/a:" g TR



A —
O | 13T At

— -] & S
1 42 V33 -3 +8-gV=2 +
2
30 -

-

6-6\Vas _ 3-3 Y33
2 = e -

a el uud Map
_ te o F*

/

I’cj\;a‘é"
o /uS‘L~
NGWV, OEU <;:\~AZ;/V’ P“. {{’2’1/"’ J’; ‘0”
T S i W S S
\ >

(g m bne
//’_____,,—\—----""'}"(X"'——}ﬁ ﬂ ’\‘_—_‘>L ’ Z—/)%\)
< 53 Al sk
I AL E
5085




“gﬁdU\

T (189
\;—,(%/3;_\/7\»(@‘*‘ J e B
3y o) w (35

/

~ |
ﬂ‘_wcﬁ"\( -

o= l_ijg,%@ﬁ‘x

pe(w- e~ ), —a

(33305 ~.®896 )



2.0 1 T3 T
@

T = (?"ﬂi/‘“s\ e (‘{o?/}\(/ 55,00@0) M N

- o/ 1-V=3 s
d = (Qﬂ' + encsSw ( "'5;") ?——?"‘@)
J o

a (50483, T TP

K = (@vx +ovtc$4"( ) Ob iz (8

L=z (27, ) % (L 28D, O \

@ Rl 3“'_—2—8 = (x=% ( +j)
¢ —\ ¥ I
/ﬂ _ '

q0® > 0)

0= RS —> L/i/




T &)

(o =) (Y")—- (x E?X-l&\‘j(\ )

\\'V

FTR

> | (X\:

..

b 1
l.}@xq—l% Y =X +3

P N ~
2P -sx +3 W AP E=

| (- \"

|

SET o =7 Wrax+3l = @,
‘ = () =2~
—— x\«_,’Lx +\"L‘_ \ -l'%\ = (\(-(\ +30 ”' O g
No rend s> \rne, —wm7 NO vhay [/ r——
ALP

R (x) /’L»w@(%-l\l—(X%Zx-r?l)(-z(x__‘\)_
X) =

L (% '\\Q — 2 (-2 D)

I







